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Time : 60 Minute Group -D Maximum Marks : 50
L FENAIE . coivoinomimannmii: Roll No. ..........

Q.NO.1- 3 AT & 9o & forg 3 A i &1 9@ s ?

[A] @ [ [B]wm@ ]

[C] 3@ [] [D] sk ]
Q.NO0.2- w5 &1 ggigard o gar & ?

[A] wreifer [ ]  [B] viom [ ]

[C] Siee [ 1 [D]aRa@ [ ]
Q.NO.3- J=#3 @1 U $iF &awm g ?

[A] Rrsgurer [ ] [B] wregufer [ ]

[C] wer=h [ ] [D] S ]
Q.NO0.4 - ST 7T FT TSR I8 o—

[A] @ [ 1 [B] <orem [ ]

[C] faer [ ] [D] &R [ ]
Q.NO.5- 77% gRT UIdl ST Tel §a9 ygall ugj o ?

[A] = [ ] [B] &&w [ 1]

[C] =rst [ ] [D] & ]
Q.NO0.6- Cold and Foggy month is —

[A] June [ ] [B] April [ ]

[C] February [ ] [D] May ]
Q.NO.7- Choose the odd one from these things —

[A] Fruit [ ] [B] Root [ ]

[C] Sky ] [D] Leaf C ]
Q.NO0.8- "I’z & 31 &R a1 ¥l UF” & 3D # fora W Fa1 grm ?

[A] 1222005 ] [B] 1220205 ]

[C] 1202205 ] [D] 1202025 ]
Q.NO0.9- 957 & U 1414 dSg ¥, AT T §od B 7 ASG <7 81 Ol G fha g=ai I dAsg, el

I HHAT 7 P

[A] 22 [ ] [B] 220 [ ]

[C] 202 [ 1] [D] 200 [ ]
Q.NO0.10- t& 3ifad (efig 537 ) # favae & 8t ?

[A] 8760 EC [B] 8544 ®ic

[C] 3600 ®C % [D] 8784 ®ic Ell
Q.NO0.11- How many vowels are there in word 'RAINBOW' ?

[A] 2 [ 1 [B]s [ ]

[C] 4 ] [Dls ]
Q.NO0.12- &9 91 W 3¢ SR 99 7 ?

[A] & ] [B] <o 2f= ]

[C] w—s ] [D] weare ]



Q.NO0.13- IR 3iH & G4 < SR BT F&AT BT I 38—

[A] 1099 [ ] [B] 10999 [ ]

[C] 109999 [ ] [D] 109 ]
Q.NO0.14- &AM g &1 Hfel T EFm—

[A] gfemr [ ] [B] gfam [ ]

[C] 7 [ ]  [D] gfems [ 1]
Q.NO0.15- <1 fags e R Il & ?

[A] 14 Ry ]  [B] 14 7a=R ]

[C] 15 s [ ] [D] 2 3raesr ]
Q.NO0.16- Express indigits —'Quarter to Six"

[A] 6:15 [ ] [B]6:45 ]

[C] 6:30 [ ] [D]5:45 ]
Q.NO0.17- 3usT 915 39N 6 A BICT 2, Al 4 a¥ 919 98 M99 o= Bier B ?

[A] 10 ] [B] 2 ]

[C] 6 ] [Dls ]
Q.NO0.18- = % 3 anusT gerRi Rrerm =18t 23—

[A] g [ ]  [B] sfemn ]

[C] sToHTe [ ] [D] TREgR ]

Q.NO0.19- Fisgsy & 99 | ufig aafda -
[A] were wifeft [ ] [B]wma R [ ]
[C] ¥RER ucd [ ] [D] e weR faeis[ |
Q.N0.20- 3muaTr weR A% 59 98 & R Rea g ?

[A] 7 [ 1 [Blagm [ ]

[C] o= ] [D] =rerr ]
Q.NO0.21- to a9 § ¥ fHa-T e W 45182 U<l a1 ?

[A] 54818 ] [B] 1045182 ]

[C] 56812 ] [D] 54812 ]
Q.N0.22- f=feraa # urgfae ST 5—

[A] ggor (1 [B] srrew ]

[C] =m [ 1 [D] g™ ]
Q.NO0.23- 6, 18, 30, 42, (?) 3TTil €T FT BRA ST §H A BT Yo A ?

[A] 56 [ ] [B] 48 [ ]

[C] 54 [ ] [D] 60 ]
Q.NO0.24- 319a I 20 9 I | 39S AT S 7 YD Ia- v9Y AR ¢ fear foras S yewr & et g ar

9P UM 31 F[of b v 7 ?

[A] 48 2uar [ ] [B] 29 »uar [ ]

[C] 75 391 ] [D] 95 Buar ]
Q.NO0.25- &R IR To¥ & TAM I99Td BT M 5—

[A] el sl 99 ueet [ ] [B] iR <iga ]

[C] # wr <e= [ [D] *ir oged @R Riz [
Q.NO0.26- T &1 <= faas a1 ?

[A] RE g+ [ ] [B] sm=1 [ ]

[C] areife [ ] [D] deeard |:|
Q.NO0.27- HANDSOME & &Rl ¥ 994 drell 8 2—

[A] SOUND [] [B] MODE ]

[C] MIND ] [DICORRUT [



Q.NO0.28- F&<A1 §§ & SIUT &1 JT 1 off ?

[A] Aest @l [ [B] 73 []

[C] Ragred ] [D] Wfea [ ]
Q.NO0.29- z9Rr STel 79 & @le 991 fFaies &5 &1 9W |1 7 ?

[A] 7% ]  [B]l¥= []

[C] #ega 1 D] geweas L]
Q.NO0.30- 519 ST 100 TIY FHACT & | IS I8 45 Y Fd B <l & df (& 9<IE H fha- 94 qam & ?

[A] 315 %0 ] [B] 385 %0 [ ]

[C] 700 %0 ] [D] 455 %0 [ ]
Q.NO0.31- §=1 a1 FBl o 3 ?

INERES ] [B] eeas [ ]

[C] wrammrt ] [D] faeeht ]
Q.NO0.32- SR 7oy & gera fas a8 & fog g7 o @ 2

[A] 6 o ] [B] 5 o [ ]

[C] 1 a¥ ] [D] 10 a¥ [ 1]
Q.NO0.33- ‘#au FAR" Bl fha AR arT o ?

[A] aifrg ] [B] sRee= [ ]

[C] <erer ] [D] gomamt [ ]
Q.NO0.34- 7, 6, 5, 3, 8 4, 9, 2 § T |7 R &1 AT 3—

[A] 20 ] [B] 27 [ ]

[C] 24 ] [D] 32 [ ]
Q.NO0.35- 1o Gl el § $F 9 A fHa1 99 el & e @rell 7 37 ?

[A] 200 ] [B] 150 [ ]

[C] s0 [ ] [D] [ ]
Q.NO0.36- 3mafd &1 @R @il S8 WRI—

afs 2 |9 ar 2 |3

66 -
8 6

[A] 15 ] [B] o ]

[C] 12 ] [D] 10 [ ]
Q.NO0.37- gisal iR BRal &1 Jg w99 & uRig 2 ?

[A] zmror ] [B] frar [ ]

[C] R ] [D] #em™Ra ]
Q.NO0.38- s v a¥ # ifde 9 Ifte fas AarR grm ?

[A] 60 ] [B] 48 [ ]

[C] 52 ] [D] 53 [ ]
Q.N0.39- R 7 fo7el # foas fu S &3 8 ?

[A] 4 [ ] [B] o [ ]

[Cl s = s ]
Q.NO0.40- s1a1 ORI ST & 91l BT F971 A9 o ?

[A] ordch ] [B] e L]

[C] & O] [D] srggan [ ]
Q.NO0.41- s1a1 TIfoFmRT S &9 5 59 & garm o ?

INEES ] [B] ser wwr [ ]

[C] faer L] [D] gerdar [ ]



Q.NO0.42- i1 it gl &1 M a7 o ?
INERSE ] [B] ®frmft s [
[C] mem S ] [D] <a@t it ]
Q.N0.43- R 3 g fa s 8 ?
[ ]

[A] 12 [ ] [B] 14
[C] e [ 1] [D] 7 [ ]
Q.NO0.44- 5iRM 31 &AM & YT g & oIy Follaet JS1 I B e 921 5 9/ ?
[A] Sireer ] [B] fsfraor ]
[C] gsor [ ] [D] #errey [ ]
Q.N0.45- @kai iR grvsdl & 6 B o ?
[A] arefiar [ ] [B] wparemd [ ]
[C] somrard [ 1] [D] sfrager ]
Q.N0.46- T+ 7 Feacei 930 78T Jg SiRId MR Feceii 999 99T & TS Jede] i © 7
[A] =0 g9=1 e ] [B] sio fasrg wwr [ ]
[C] st MR gear [ [D] it <mwem qar ]

Q.NO0.47- 9=d # MUqaTer {6 Te=HaT 7 o’ o ?
[A] #h s ® € [ ] [B] s sfewr wiieh [
[C] & wofta witelt [ [D] =10 #HE+ Rig [ ]
Q.N0.48- siigr siRk gar o1 fods s # R a5 @t ?

[A] *f¥ wRgret - [] [B] =fv dfeufy [ ]

[C] %= ara [ [D] =i areifes [ ]
Q.N0.49- = 4l ToRT & JegEal feail IR a9 9 ?

[A] 3 9R ] [B] 4 IR L]

[C] 5 aR [ ] [D] 8 &R [ ]
Q.NO0.50- i1 &1 Suawr & {1 off 7 fedar faar o ?

[A] gRfst =1 ] [B] srof @ [ ]

[C] Ferm @1 [ ] [D] gt =1 [ ]



